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Read the following instructions carefully before you answer the questions.
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This question paper contains two sections. In Section I there are 1 to 25 questions of First Language and
in Section II there are 26 to 75 questions of Mathematics. All 75 questions are compulsory.

All questions carry 2 marks each.

Time limit to solve the question paper is 90 minutes.

Separate answer sheet is given to record the answers. Each question has been given four
alternatives. Read them carefully. Select the correct answer and shade the correct answer in the answer
sheet.

Example :- If the correct alternative for Q. No. 6 is 2, then record you answer as follows :

Question No. 6 0] ISIO)

Answer recorded in any other form will not be considered. Such answer will be credited with ‘Zero’ mark.

Example: (1) @ @ &

Use blue or black ball pen to darken the circle. Pencil is not allowed. Circles darkened by pencil will not
be credited.

Once you have darkened the circle as correct alternative you cannot change it.

If more than one circles are darkened or overwriting is done, the answer will not be accepted.
The rough work is to be done in the space given under each page or on the last page of the question paper.
If you do not know the answer to any question, do not spend much time on it and pass on to the next one.
Ifthe time permits you can come back to the question which you have left in the first instance and try them
again.

If you find any question incomplete or with error, then do not ask anything to the Supervisor or Centre
Incharge.

For any error/mistake/objection issues, school or parents should not send written application to Block
Education Officer or Education Officer. These error/mistake/objection issues should be
register online through respective school login only.

The error/mistake/objection issues should be register online within 10-days from the publication of Interim
answer key on MSCE website.

Questions can be cancelled due to printing mistake of any other reason, on the basis of the
suggestions given by the Committee of Experts.

Along with the question paper of the respective medium, the English version of question paper is also
provided. In case of doubt please refer to the English version of the same question.
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faurTI
gy HTHT

9T 1 ¥ 3 : FrAfeiad 1aaiut sl sAueeh Ugeht 39 UX U T WsHi oh ST ohl Wel Uaid g

o7 W &7 g g i T Sedt € S @ 7 | w9 e aren gt a1y i wgf
FRAT R | U0 ST~ Bl FH FRd & ST STTSTehed JERITU TR IR fean o1 &1 € | el 3 7ig
Tt R e, el shfe B 7 Sre =fet | FREm § T U o STl St Saee gl =iy,
TR - 9gu0 = 21 | a1 Fgor «ff ogd eif-eheh Bl € | BalTS STarsh, Wed, Yo S5, el ediam
311 o1 ST ST O S FHTe STerdl €, Tl Seq= ohial & | TRt a1 9k & fee-ed 31k 3= T
B AR |

1. ST WSHUT ol hi< o™ ohidl & ?

(1) ¥5-9 2) T
(3) wd (4) ot
2.  HIEF U -G e g ue ?
(1) I H (2) TAH
(3) =™ - U H (4) TS U T ST I
3. FRASTyRAFaae?
(1) & g et 21 (2) fr-a2 3t 3=9 =T BN el © |
(3) Tl Y HH B R | (4) T G @A R |
Space for Rough Work
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U9 4 ¥ 5 : T | TE G ahl Ugeht T TT WS ok SR (A

el H ST e IR & 2,
SIS AT ot BR A =l |
T < ST AT TR T R,
el Sarl T, G R TReerd ¢ |
T = ferame i A WEw W,
T AT, IR =1 7 STeRdl ¢ |
STFER ST e TR el B,
IV A ATl i TR Tl Bt |
STHEAAT T A & TR R,
1 FHY T8 T, @ 3R GUR R |
T ek 7 A T, S = H AR G,
Tt ot e Big T R e |
F o fom & - Stoehr 7= 2,
SIS A ATl i BR Tl 2t |

= <Rt fagme T ® o= et aRar g ?
(1) gerd fFrefor e & |

(2) ey frefor e & |

(3) @ed fHfo e € | (4) Taar frafor s 2 1

ATHTHEAT ThY FIT Shel TIT § ?
(1) =Ifemer
(3) durd

(2) A
4) EENES

Space for Rough Work
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10.

11.

frefafaa ae ¥ g9 uga=e

‘a1 | o e e |

(1) 3® (2) g

(3) e (4) w5H
frefataa & 9 9@ gt vgang

(1) o -~ ferar (2) I - fet

(3) Fe1 - Fien (4) et - wifer
frefateaa & @ o gt ugeniy

(1) & - = (2) welt - Hferat
(3) Tafe - =fife=t (4) =fa - st
Frfafed & | SA-U1 aTeR A § T g ?

(1) =8 Ha T o | (2) T vz T |
(3) TR FAT R R | (4) TSRl ug W ot |
Y orenereessees " gq farmufag @t 9@ A gt |

(1) faernfeaye fag (2) st fo

(3) sdifom fag (4) quife™ fog
frrefafaa garer o sfaa stef = wata g )

st He -

(1) & G (2) &

(3) = =eA T (4) g & S

Space for Rough Work
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12. TrAfafEa o & garad o 3eh 3tef ol Tetd SEt ugang |
(1) TE < - TR B | (2) U2 AT - T A |
(3) SHER B ST - T &S | (4) - T - I YT v |
13. el 3Mehpia o Ueh harad fodl g & S0 UgaTeht SUeh Dol &N saral |

(1) # 2) %
(3) d (4) T
U9 14 ¥ 15 : FrAfaiea Gag samydsh Ugeht 36 WX U T U1 o S0 yaial § § AT |
TRISH ¢ N THY, TS AHA Y| N E, I fAu 3 & 2
THY ¢ <[, TS STETS | 94, o7 S R B o |
SRS ¢ R TS FS YR, S G=al o W HeTd il 8, 3§ Toherdl a9 fherd) 2 |
BT ¢ W SE1S, TN HEAd el idl © 2 516 <l a9 “HR wel ¥ 3= fedrei gaR’ T
TATATAT Rl # |
TS B A, A 9 S HiEH A S 3= Aa ¢ |
RS 2 TSN, HY UE-Tge §H T Sk AR e ST, ST Sfaier i st It (Srt Fere)
It fom H, sfaRer ¥ g &
14. Aoherer fopd foerdt & 2
(1) F==t @ ¥ Hed A aTet i
(2) SEATT ¥ HH FH AT P
(3) TR A aTel =l

(4) TH-ThHH T FHA G H

Space for Rough Work
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15. Suirer Hearg W for fafter amsit & 10 o1 ool gan ¢ ?
(1) ke oot (2) eIl AT
(3) It (4) Grran faferrs
16. feu T u=ial ¥ | Tera SISt vgEny
(1) SUeR - dfede (2) Tfersierh - geTaT
(3) 9T - I (4) G- - TR
17. Frfafea watat § wamned sea st @ Siet ugen
(1) STRT - S (2) g - wiagH
(3) <@id - gfE (4) Tauifa - fifzra
18. &3 wu fawagrelt vsdf ot wiifga W & TToa Wl T ¢
(1) gfed x gfem (2) T X eR
(3) TRk X SAelITehh (4) TR0 x faery
19. fFrafafeaa yesage & fag s vist g |
sfie™ § Hefd -
(1) fceifas (2) wrmfes
(3) WEp(aH (4) T
20. Sfa UETE AT HYT T YUT I |
SRR B YT S T o
(1) g (2) T=
(3) §9 (4) 2t
Space for Rough Work

0301 -A 6 of 32

P.T.O.




21. ‘Usar’ vk & foiu w@ umia g
(1) Fd = = (2) 515 T
(3) B & =1 (4) &g = s
22. HIS % & ol 9E -
(1) ereaet (2) T
(3) TH (4) 9
23. TreAfafEn yrsiil ot Suiehn o SITER forem W A ShHieh X shie-§T 9768 BT 2
(1) %t (2) formt
(3) =™ (4) W&
24. ‘TTERa’ W ¥ fRw wem sfa R waifue fear e ?
(1) gerorers <" (2) TEATE T
(3) e AT (4) st Fod
25. feu TTw argal wt Sifsdl ¥ | e SISt Ugang :
(1) @I - TH-TH-TH (2) Touedt - @-q-dt
(3) oA - I (4) Sl - SH-SH-<H
Space for Rough Work
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Section II

Mathematics

26. ‘‘Ufe g i WG g &R Uie | f=a ! 3@ 9 & 91 AHaret shitieh W&

= o | & ot gt 2
(1) 5,09,77,600 (2) 5,09,77,599
(3) 59,77,600 (4) 5,97,70,700

27. 0.561 I THeE T for 3 fig=it & e st & ?

(1) 0.59da10.56 (2) 0.50 921 0.60

(3) 0.562 @2 0.57 (4) 0.56 T2 0.57

28, af freget 35 1 v &, A1 2 Frareit @ FremaR T T Tt 3 oy vt A 7

(1) 6 (2) 4
(3) 2 4) 1
Space for Rough Work
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26.

217.

28.

Section 11

Mathematics

Which number will occur consecutively after five crores nine lakhs seventy seven thou-
sand five hundred and ninety nine ?

(1) 5,09,77,600 (2) 5,09,77,599

(3) 59,77,600 (4) 5,97,70,700

Between which two decimal fractions does 0.561 lie ?
(1) 0.5and 0.56 (2) 0.50 and 0.60

(3) 0.562 and 0.57 (4) 0.56 and 0.57

A triangle has 3 vertices. If a rectangle is formed joining 2 triangles, how many verti-
ces will it have ?

(1) 6 (2) 4
(3) 2 4 1
Space for Rough Work
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29. SRS HeEehN! HET o ATtk el WTENUT W1 | 2240 T B & 35% Higed 9E e Te
FTUROT T § Sufkerd off | afE @9t § 100% I8 aier Sufierd o, at Eem ot |e |remoT
AT TR qo9 IeR aeh Utk & ?

(1) 1456 (2) 786
(3) 1356 (4) 1256

30. 52 3E HEAT 1 9 ¥ a7 fauTsTeh S0 B2 | BleT faursien @t feha=T =1 g 2
(1) 26 (2) 13
(3) 4 (4) 52

31. 55U & 30 fager IT 10 T3 & ferem e yra @iy ?

(1) 3 2) 6
3) 15 (4) 20

32. 1® 9 3 chitieh ekl U W hIg ot B ek AT Ueh A YT ehich o9 dTelt agl & agt faug

& o BT | BlEt THEEAT T ANTHE fohaT 21T ?
(1) 1001110 (2) 1111101
(3) 1110110 (4) 1111100
Space for Rough Work
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29.

30.

31.

32.

For Annual General Meeting of Utkarsh Co-operative Society out of 2240 members
35% women share holders were present. If 100% share holders were present, then
how many men share holders attended the annual general meeting of the society ?

(1) 1456 (2) 786

(3) 1356 (4) 1256

How many times is the greatest divisor of 52 is that of smallest divisor ?

(1) 26 (2) 13

(3) 4 (4) 52

How many notes of Rs. 10 can one get if one gives 30 coins of Rs. 5 ?

(1) 3 (2) 6

(3) 15 4) 20

Form the greatest six digit odd number and smallest six digit even number using the
digits from 1 to 9 only once. What will be the sum of these numbers ?

(1) 1001110 (2) 1111101
(3) 1110110 (4) 1111100
Space for Rough Work
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33.

34.

3S.

36.

TR TG W 510 37eh UTWd hich ITIUT 30 | 39 TG W 68% 37eh UTwd gU, Af 9 udigmm
feram 27l =t off ?

(1) 510 (2) 680
(3) 750 (4) 800

%, % %, % 39 f= o ged U W T W Hed gt i g el st e o e e

3T AT |

(1) 1 @ =2
3 2 ) 1

fepet T @t 5 9 UM ST & ST 8 W IO S WX U 39 9 ST &, 4l o8 &
=hie I ?

() 14 (2) 12
(3) 13 4) 15

3Rt B U=t iteh & WIS ¥ Ueh WHU 3Mehfe TSaal dOR i W ‘R’ 18 &% IS %
U g Ux <RI T 781 31T & ?

R
U|P|A
L
I
(1) L (2) A
(3) 1 (4 U
Space for Rough Work

0301 -A 12 of 32 P.T.O.




33.

34.

3s.

36.

Onkar passed an exam scoring 510 marks. If he has 68% marks then for how many
marks was the exam conducted ?

(I) 510 (2) 680
(3) 750 (4) 800

What is the difference between the greatest and the smallest fraction if %, %, %, % are

arranged in descending order ?
18 10
(1) 1 (2) &

3 2 ) 1

If a number is multiplied by 8 instead of 5, the product increases by 39, then what is the
number ?

(1) 14 (2) 12

(3) 13 (4) 15

A paper is folded according to the figure and a cubical box is made. Which letter will
be there opposite to the surface with the letter “R” ?

R
U|P|A

(1) L (2) A
(3) 1 (4 U

Space for Rough Work
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37.

38.

39.

40.

41.

frer ¥ | T uRTEelt i e ?
(1) 7Tx8+4=14 (2) 27+3%x3=9
(3) 18— 13+5=10 4) 16+5-12=9

SA® X 91 0 S0 W Ueh hetd 30 T A 3T TS Sheld a2l Ul IRg FUN oAl Teh U
T WA A YT TR | FHMIR ahl AT B0 hi Teh HIE I WX ehER ST okl fehaa
BUY ST R ?

(1) 46 (2) 34
(3) 4 4) 25

ST 3 YU Rl 8 WITHE. ot T 2500 &. 6 TeH o forg wremor =&t 9 f¥u & worg
ST oAl 6 W& ol feha =T SaTsT 37T 2

(1) 100 T (2) 500 T
(3) 200 &9 (4) 600 T

26586 TH TEAT H TR qAT T@E o TAT ok 3ich o LTI Yo ot AT deT TehgT 3T
TS o TUTH o 37k AT LTI oo ST AT SRl 31T fehaT & 2

(1) 5920 (2) 5500
(3) 6660 (4) 6080

T WS ¥ 52 TeT 3o 2184 &. | 94T, 39 364 &. T AT g1 d W €S 7 I8 3 foheq
FUY Yie e o I W ST E |

(1) 1820 (2) 45
(3) 42 (4) 35
Space for Rough Work
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37.

38.

39.

40.

41.

Which of the following expressions is wrong ?
(1) 7x8+4=14 (2) 27+3%x3=9
3) 18—13+5=10 4 16+5-12=9

Joseph bought half a dozen pencils at the rate of Rs. 3.50 per piece and 2 pens at the rate
of Rs. 12.50 per pen. If he gives Rs. 50 to the shopkeeper, how much money will he get
back ?

(1) Rs. 46 (2) Rs. 34
(3) Rs.4 (4) Rs. 25

Rutuja gave Pranav Rs. 2500 on simple interest for 6 months at the rate of 8% p.a. How
much interest will Pranav pay to Rutuja for 6 months ?

(1) Rs. 100 (2) Rs. 500
(3) Rs. 200 (4) Rs. 600

What is the difference between the sum of the place value of the digits in thousands and
tens place in the number 26586 and the sum of place value of digits in the hundreds and
tens place ?

(1) 5920 (2) 5500
(3) 6660 (4) 6080

Magansheth sold 52 litres of milk for Rs. 2184 and earned a profit of Rs. 364. Find the
cost price of milk per litre.

(1) Rs. 1820 per litre (2) Rs. 45 per litre
(3) Rs. 42 per litre (4) Rs. 35 per litre
Space for Rough Work
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42.

43.

44.

45.

46.

fert STIATeRT AR Sl TaTE eI =STE ShuvT: 4 . 9T 3 Y. § | 30 Rl | 40 9t oo
TS STTehdl ST SISTHT & I8 AiTichd feha-l STEed 3@ Shud W ot ?

(1) 50 (2) 100
(3) 75 (4) 400

30 HieX TiaTg o TEHT ahl 5 TATHT U WHT 3T TIehT ShieT ST A, 37 qehS1 ohl TiTe fehaT
Bt 2

(1) 6. (2) 10 .
(3) 5. (4) 18 .

32321, 32312, 32231, 32123 31 WSl ol TU2d s W T WX Ugel 99T Steit EE o
AATRA fehamT BT ?

(1) 64435 (2) 64444

(3) 64552 (4) 64543

Teh 91¢ 400 &. B e W ferer 9ot o % AT ST AT | 0 3 91 o1 haredl Toherr 3R ?

(1) 150 T (2) 550 T
(3) 250 ®7a (4) 350 TT3

TIYTT EI U1 e 38 T & | 50 6. Wid TieT o 3 W SHeRT 31T HIE ht g1 ol faret
fepamT 3maT ?

(1) 375 (2) 3875.0
(3) 375.50 (4) 387.50
Space for Rough Work
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42.

43.

44.

45.

46.

The length and breadth of a rectangular room is 4 m and 3 m respectively. If this
class room is to be tiled with square tiles whose side is 40 cm, how many tiles will be

required ?
(1) 50 (2) 100
(3) 75 (4) 400

30 m long rope is cut at 5 places. What will be the length of 2 pieces ?
(1) 6m (2) 10m
(3) Sm (4) 18m

What will be the sum of the first and third number if the numbers 32321, 32312, 32231,
32123 are arranged in descending order ?

(1) 64435 (2) 64444

(3) 64552 (4) 64543

When a shirt is sold at Rs. 400, the profit earned is % times the selling price. What is

the cost price of the shirt ?
(1) Rs. 150 (2) Rs. 550

(3) Rs. 250 (4) Rs. 350

1
Everyday, Roshni buys n litre of milk. What will be her bill amount for the month of

August if the rate is Rs. 50 per litre ?

(1) Rs. 375 (2) Rs. 3875.0
(3) Rs. 375.50 (4) Rs. 387.50
Space for Rough Work
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47.

48.

49.

50.

e arepfaeier @Rt Rem T W 3T arell STTehfdee ugem |

O+ %, + %, >0+, ... 2......
(1) O+ % 2) +0 %

(3) O * + 4) * +[]

T % U el 5 TSI shrraar ot | 3eH 9 % AT AT SE ISR qAT % T[T ShITEt
A Yool Rl < | A SHeh U feRert shTtuEt 9re T& e & 2

(1) 60 (2) 12

(3) 18 (4) 30

gfteRia = 900 &. W TS A, 36 RSN &t 10 6., 20 &., 50 €. q97 100 &. &% T0H
T W e fau At 36 20 %. % Fe fehart Are X ?

(1) 20 (2) 4
(3) 5 (4) 10

TATEAT ahTeht = 6016 9 & U TS, Wedieh Ufer o Sl 3 47 Ure oy, At S dreil =t femait
Ufeat st 2

(1) 128 (2) 118
(3) 108 (4) 228
Space for Rough Work

0301 -A 18 of 32 P.T.O.




47.

48.

49.

50.

Complete the sequence observing the pattern. Choose the correct option.
O+ %, + % [, %O+ ... 7.
(1) O+ * (2) +O %

(3) [ % + (4) * +[]

1
Pradnya had 5 dozen copies. She gave half of the copies to Anushka and 3 times of the

copies to Prajwal. How many copies are remaining with her ?
(1) 60 2) 12
3) 18 (4) 30

Shrikant bought a watch at Rs. 900. He gave equal number of notes of denomination Rs.
10, Rs. 20, Rs. 50 and Rs. 100. Find the number of notes of Rs. 20 that he gave to the
shopkeeper.

(1) 20 2) 4
3) 5 (4) 10

Mangalakaku purchased 6016 saplings of lemon. She planted 47 saplings in each row.

How many rows will be formed of those saplings ?

(1) 128 (2) 118
(3) 108 (4) 228
Space for Rough Work
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51. 480 |t = R TahT Hiex ?
(1) 4.8 (2) 0.48
(3) 48 (4) 0.048
52. 5 TG R HAGER ¥, 6 99 @R W i W G/ 5 S TG A0 E ?
(1) Feher (2) wfFER
(3) =R (4) 9HaR
53, Terdt STaa ot TiETE T HIeTE AT 12 WHT 7T 8 UHt § | |F TH ST oht uRfufa aret
ot it et feRaaT 8 ?
(1) 24 =t 9t (2) 40 =t g
(3) 100 ot G (4) 96 = T+
54, % [ A 37 fa=af & T U HATT: i ©F HE&AT AT ?
8 % 2 Al
—-% 502 3
4 0504
(1) 3,7,9 2)9,7,3
(3) 7,93 4)9,3,7
55. forelt woTHE. i A 5000 . o 3 I8 ST WIEROT 1T 1350 &. & AF S0ST ht X aare |
(1) 5 2) 8
3)9 (4) 7
Space for Rough Work
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51.

52.

53.

54.

5S.

480 cm = ? Decameter.

(1) 4.8 (2) 0.48

(3) 48 (4) 0.048

S5th January is Tuesday. Which day of that month will not occur 5 times ?
(1) Friday (2) Saturday

(3) Sunday (4) Monday

The length and breadth of a rectangle is 12 cm and 8 cm respectively. What will be the
area of square whose perimeter is equal to the perimeter of the given rectangle ?

(1) 24 sq.cm (2) 40sqg.cm
(3) 100 sqg. cm (4) 96 sq. cm

Which numbers will occur in place of 3% (1A ?

g8 % 2 AL

- % s 02 3

4 0504
(1 3,7,9 (2) 9,7,3
(3) 7,9,3 (4) 9,3,7

What will be the rate of interest if Rs. 5000 fetch Rs. 1350 as simple interest after 3
years ?

(1) Sp.cpa. (2) 8p.cp.a.
(3) 9p.cpa. (4) 7p.cp.a.
Space for Rough Work
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56.

57.

58.

59.

L, X, V, D, C, M 37 TH= AT ol ©2d A | ferat |
(1) ,X,C,D,L,M (2) V,X,L,C,D,M
3) C,D,L,M,V,X 4) M,D,C,L, X,V

Tk R ST & | 5 ST RS BUTE o U SUET W ST, 36 RISt 9uTs ald 9
T 2 &, 1t foha™ Tt 9i ey ?

(1) 324 =TS (2) 360 HTS
(3) 320 =rTT (4) 28 T

T, BT, B aeT S9RT 4 HRferat g WEl ¥ | SR T Uelieh o T gEAiSret fehar, Y
9 fehat I gEaiger st 2

(1) 3 (2) 4

(3) 5 (4) 6

frer & | e AT UgETy -

(1) Torelt T =l 1 | 9 9 R o S 9 2t ¢ |

(2) feret S = SEt S ¥ 9 & ISR I WK Bl § |
(3) Torelt e = SEft S § 91T < R ST U W 2l | |

(4) *TSTeR T AT o1 70T Tk TTe HEA & Auhet e W 1o’ 91 B € |

Space for Rough Work
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56.

57.

58.

59.

Write the roman numerals L, X, V, D, C, M in descending order.
(H V,X,C,D,L,M 2) V,X,L,C,D,M
(3) C,D,L,M,V, X 4) M,D,C, L, X,V

Out of 1 ream paper S quires were used for printing and 36 papers were wasted during

printing. How many papers will remain ?
(1) 324 papers (2) 360 papers
(3) 320 papers (4) 28 dozen

Gauri, Hamida, Mary and Ishwari are friends. They are standing in a circular manner.
They can shake hands with each other only once. How many times will the hand be

shaken ?

(1) 3 (2) 4

(3) 5 (4) 6

Find the incorrect statement from the given alternatives.

(1) When any number is divided by 1, quotient is the same number.
(2) When any number is divided by itself, quotient is zero.

(3) When any number is divided by itself, quotient is 1.

(4) When remainder is added to the product of divisor and quotient, one gets dividend.

Space for Rough Work
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60.

61.

62.

e o @ e |t R enerfa o sifeRa =T o Tamen fa= @ geriar € 2

(1) 3= @ =
3 =2 ) o

famm weToTTen ffiedt 3 fog s TR X wees fearmera st 1508980 F. SR I ad

e | weRT, o 168 faemera & feg et fehat €U 3T o U § f¥U S ?

(1) 24143680 (2) 253508640

(3) 27161640 (4) 102610640

g 7.30 o1 foranmera W 3 aren ferer 330 e & g faanea & 9@ amud wien & fag

frareran 2, at o fora ot =X & fore Fremerar ¥ 2

(1) §rE TIRE 5 (2) 9R 9 T
(3) TS (4) TIRE
Space for Rough Work
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60.

61.

62.

Which of the following alternatives indicate the equivalent fraction to the shaded
portion in the figure ?

(1) 22 @ 2
45 60
3 2 ) =

Central Government granted aid Rs. 15,08,980 towards the provision of Science
Laboratory per school. How much aid will be required for 168 schools in Maharashtra ?

(1) Rs. 2,41,43,680 (2) Rs. 25,35,08,640
(3) Rs. 2,71,61,640 (4) Rs. 10,26,10,640

Nilesh came to school at 7.30 in the morning. After 330 minutes in school, he started
for home. At what time did he start moving home ?

(1) 11.30 a.m. (2) 10.30 a.m.
(3) 1 o'clock (4) 11 o'clock
Space for Rough Work
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63. IATeHl AT W= 3 W 2000 FEER <hl AT | A SHeh THS AT hiv ¥ T hY ST ?
(1) Yeam (2) WHaR
(3) WA (4) WfFER

64. ‘diferan Fder @™’ ® 2012 W ARG et W 317528 seal hl QAT FEEH! Sl W
204537 Sl @t Uil S fXU 7Tt et foree Sreat @t aiferen S fee e ?
(1) 522605 (2) 522607
(3) 522065 (4) 522705

65. ‘TTEEfq fomeE’ ¥ e TR 9w Ugd ¢ Al g W S e fug § o feret 2
(1) 22250 (2) 4o
(3) Yo (4) 2250

66. TR SE | T 12% ke BT 2
(1) 1500 (2) 144
(3) 150 (4) 200

67. TR 15980 &. &1 fBsT, 20740 &. o1 ET.&&. T | 367 2000 &. o 19 e THIR hi
S O SHTIR W 1 10 &. o feham e arae SR ?
(1) 1280 (2) 228
(3) 2280 (4) 128

68. T WIES X 32000 %. Sl Teh St WHIST | 9 A ok fAT Imarema @ 1500 . fhu 1 3 7de o
YT S A e 35300 % B 9 e, O 39 o W A UiEs ot fhae SUd T Wi geu ?
(1) 3300 T (2) 1800 T9
(3) 3000 T (4) 1500 9

Space for Rough Work
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63.

64.

65.

66.

67.

68.

Chaitali was born on Wednesday 3rd August 2000. What will be the day on her tenth
birthday ?

(1) Sunday (2) Monday
(3) Tuesday (4) Saturday

Under Polio Eradication Campaign 2012, in Nagpur district 3,17,528 children were
vaccinated and in Amravati district 2,04,537 children were vaccinated. How many chil-
dren were vaccinated in all ?

(1) 5,22,605 (2) 5,22,607
(3) 5,22,065 (4) 5,22,705

“Two and a quarter thousand” students study in Gurusmruti Vidhyalaya. Express this
number in International numerals.

(1) 22250 (2) Yo
(3) RRRYo (4) 2250
12% of 1250 = ?

(1) 1500 (2) 144
(3) 150 (4) 200

Swara purchased a fridge at Rs. 15,980 and a T.V. set at Rs. 20,740. She gave 19 notes of
Rs. 2000 to the shopkeeper. How many Rs. 10 notes will the shopkeeper return her ?

(1) 1280 (2) 228
(3) 2280 (4) 128

Nanasaheb purchased an ox for Rs. 32,000 and he had to spend Rs. 1500 on transporta-
tion to take it home. After 3 months he sold it at Rs. 35,300. How much profit did he
earn in this transaction ?

(1) Rs. 3300 (2) Rs. 1800
(3) Rs. 3000 (4) Rs. 1500
Space for Rough Work
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312 706 344 &
69. 1009 2018 1009 )

1362 1362
(D 2018 2) 4036
2018 2018
(3) 2009 ) 2018

70. 5 HRST + 3 @S + 7 TINIT + 8 PIATYT = feferer ?
(1) 530.078 (2) 530.78
(3) 53.78 (4) 503.078

71. B: ekl ATel oW Bl fauw G& 920 B: 3ihl arelt Tad T8 TW HEAT Tl AT fehaaT
BT ?

(1) 109999 (2) 1099999
(3) 999999 (4) 99999

72. RIS ICTTIST AATYR-3rmATet gt 150 fertlt o= w2 g fome o o et &, o et Yermet
Tl AT -3TRIET 250 TeRHT T, ST AT W 9 R | {oha™ 1 0T TR ?

(1) 2% 15 fime
(2) 3% 25 fime
(3) 5% 25 e
(4) 42 15 fgme

Space for Rough Work
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312 4 706 4 344

= 9

69. 1009 2018 1009 °
1362 1362
(1) 2018 (2) 4036
2018 2018
3) 2009 ) 2018

70. 5 thousand + 3 tens + 7 tenth + 8 hundredth = ?
(1) 530.078 (2) 530.78
(3) 53.78 (4) 503.078

71. What is the sum of the smallest six digit odd number and the greatest six digit even

number ?
(1) 109999 (2) 1099999
(3) 999999 (4) 99999

72. A car covers Nagpur - Amravati 150 km distance in 3 hrs and 15 min. How much time

will it require to cover a distance of 250 km of Nagpur-Akola with the same speed ?
(1) 2 hrs. 15 min
(2) 3 hrs. 25 min
(3) 5hrs. 25 min

(4) 4 hrs. 15 min

Space for Rough Work
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73. 20 WHT ST AT I W STA(TSha TN AT &I AT Al |

(1) 400 =i Gt (2) 100 ¥+
(3) 200 = 9t (4) 150 ot g+t

ST FeTaeY SRR o 3TN W Y5} o 3T ST |

feenferat st srest o aren fawg | feammedt wEn
TfoTe ©0OO
S ©O0O
fomm © O
IEEC] ©O0OO

e 1 © = 6 fornedt
74. T aner@ W g feram ferenferay =it strenrt <4 € 2
(1) 13 (2) 68
3) 76 (4) 78

75, Tawm fawa aresr oM arer fammeft T & niftra fawe srest o arel faenfes o S
feraft atferer & ?

(1) 2 2) 12

(3) 24 4) 8

Space for Rough Work
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73. Find the area of the shaded portion of the square whose side is 20 cm.

(1) 400 sq. cm. (2) 100 cm.

(3) 200 sq. cm. (4) 150sq. cm.

Q. 74 & 75. Answer the following questions using the pictorial information.

Subject liked by students | No. of Students
Maths ©OOO
Marathi ©OO
Science ©©
Drawing ©OOO

Scale : 1 © = 6 students

74. What is the number of students about whom the information is given in pictorial

diagram ?
(1) 13 (2) 68
(3) 76 (4) 78

75. By how much is the number of students liking Maths is more than that of the number of
students liking science ?

(1) 2 ) 12
(3) 24 4) 8
Space for Rough Work
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